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Il Semester B.Sc.2/B.C.A.2 Degree Examination, May 2016
ENGLISH BASIC
(New — Regular)

Text : Wisdom and Experience

Answer the questions in a word, a paragraph or a sentence each :

(10 x 1 = 10)

1. Name the owner of “The Modern Frame works”.

2. How many dollars, the customer carried to the bank to deposxt in “My

Financial Career’?
3. Name the birthplace of APJ Abdul Kalam.
4.  Which studies of Raman caught the attention of sommerfield?
5.  Who is the author of “My Financial Career”?
6.  Which road, finally the poet selnected?A
7.  What is the theme of the poem “Ballad of the Landlord”?
8. What was Miss Pushpa’s father?
9. Name the cows as mentioned in the poem ‘A River’,

10. Name the poet of ‘The Road Not Taken’.

Explain with reference to the context any two of the following choosing one
from Prose and one from Poetry : A A (2x5=10)

1. Adversity always presents opportunities for introspection.

2. He has with him some simple optical tools like prism, a pocket tclescope

and even a pocket spectroscope.

1 P.T.O.
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25212/35201/B 010/B 120 {1 S AT

3. Yet Knowing how way lends on to way,

I doubted if I should ever come back.

4. The poet sang only of floods,
He was there for the day
When they had the floods.

III. (a) What are the views of APJ Abdul Kalam on the power of prayer? Explain.
Or

(b) Comment on humour in the story “My Financial Career”. (1 x 10 = 10)

IV. (a) “Ballad of the Landlord” is the comment on racial discrimination —
Explain.

Or ‘
(b) Write an essay on the theme of the poem ‘A River’. {1 x10=10)
V. Write short notes on any two of the follo;wing choosing one from Prose and
one from Poetry : (2 x5=10)
1. The accountant in ‘My Financial Career’
2. Keen and Porters Experiments
3. Sense of Dilemma in “The Road not Taken”

4. Dialogue between Tenant and Owner

VI. ({a) Fillin the blanks with suitable forms of verbs given in the brackets :

(5 x1=25)
1. She walking around the class, yesterday. (be)
2. He gone to Bombay. (have)
3. He his duty well. {do)
4. We going to school, when it was raining. {be}
5. She the work in time. (do)
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VIL.

(b}

(b)

Frame new words by adding proper affixes : (5x1=5)
1. Honest 2. King
3. Sensitive 4. Child

5. Curricular

Combine the following pair of sentences using ‘wh’ words : (5x1=05)
1. He is a minister. His son became cricket captain.

2. I was in market yesterday. I met my old friend.

3. He is my friend. I gave him loan for education.

4. This is the beautiful painting. I bought it yesterday.

5. He is my teacher. He married last month.

Frame ‘Wh’ questions so as to get underlined words as answers :
(5x1=5)

1. Kutub Minar is situated in Delhi.

2. Pranab Mukherjee is prescribed of India.

3. Reshma got first prize in Quiz competition
4. Sharad sold the car yesterday.

5. Nadkarni is the new Principal of the college.

VIII. Write a letter to your friend about experience on the first day of the college.

(1 x 10 = 10)
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II Semester B.Sc.3 Degree Examination, May 2016
PHYSICS (Optional)

(Repeaters — with effect from 2014-15)
Time : 3 Hours] : [Max. Marks : 80

Instruction/z6td :

Use Simple calculator wherever necessary.
SENY) SRFeL D 53, DpOeScbsO” 238,

PART ~ A/ - A

1. Answer any ten questions. Each question carries 2 marks : (10 x 2 = 20)
demad &3) PNV G300, I3 3B 2 wosrieh:

(a) What is resonance in sound?
] A‘O 3donniedd uxLTEEE &Qoddeab?

(b} Write the principles of Carbon microphone.
FOWFR SYBRFPDT S3idIa) wawd.

(c) Define most probable and average velocity.
w3e ZoziINeodr Sen sane ITIRD éeﬂm&q‘ a'gsw%ma.

(d) What is Brownian Motion?
1P,dod® BWod dondero?

(¢) What is entropy?
LR, H0BTETO?

()  State second law of thermodynamics in terms of entropy.
Fleerd mTR HOBTC leb bl zsc&mc%emddq, Bevd,

(g) Define speed of a pump.
Soas Send, SR 5.0820.

(h) Define inversion temperature.
dodmrodd suRZodR), 59,373 03D.

() State Wien's displacement law.
e ey DobRoSR), BeFD.

1 P.T.O.
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) In Helmholtz-Resonator, the resonating volume is 90 x 10~ m’when the

frequency of tuning for K is 512 Hz. Calculate the resonating volume for
tuning for K of frequency 480 Hz.

BFIRcer, VrOmEE3 Joleenad 512 Hz do3meosse, 83 83000d 90 x 10 m’
Y mITY vnomass, U 480 FomovY, ZI IO eRITTIS,
BROTEV MEYOD M3, o> SHBOWD.

(k) At what temperature will the average speed of molecules of hydrogen gas
double the average speed of oxygen at 300 K?

BOBTT VAVD VVIPOTT 303D Herlxy 300 K em%:&onodo 20030 JFenl I
BTWRT L3RBT :Scﬁii RSB urideans eng vEd dZ)?

() ~ Calculate the amount of energy emitted by a black-body at temperature
3000 K. Given: 0 =6x10® Wm?K™*,
3000 K evgdobd g@, FobRpotidord BRUINZE H8TH BabRY, 5320,
®W3: 0 =6x10" Wm?K™.

PART - B/%ern- B
Answer any four of the following. Each question carry 5 marks : (4 x 5 =20)
(AL Flaf o), IBridr u3dd. I3 3318 5 vovnieh
2. What are transducers? Give characteristics of transducers.
59,8 BRART HoBBeRO? LTV BERARTR ROEPROFNIR), $080.
3.  State and explain Carnot's theorem.
TomaE & FRoeobnT), 392 S0,

4. Describe the construction and working of diffusion pump.
ARUeDe ToaT 338, DB VBT Foadr Ve Jedrd.

S.  Calculate the RMS speed, most probable speed and average speed of a gas
whose density is 1.4 Kg m™ at a pressure of 10°Nm™. °
10°Nm™ 23889 MEHY, 1.4 Kg m™ 700633 Be0D003 odeond RMS S, ode
FogiSReod Senl 3 309A0 Serinddy 820,

6. Find the increase in boiling point of water at 100°C when the pressure
is increased by one atmosphere Given : Latent heat of vaporization of

steam = 2.26x10° Jkg™! and 1 gram of steam = 1677 cc.

Qeds @ddd& 1 8&6332‘501)0‘!'1 6%%3%03!1 100°C 6\)%301)@24&35 Reds  sodadwzg
DoTOITRE 20 Fomd> LBAVD. TI : wdob s = 2.26x10° Jkg! IR
1 mg0 8dadL = 1677 ccrt 330.

7.  Luminosity of a star is 1700 times that of our sun. If the surface temperature
of sun is 6000 K. Calculate the temperature of the star.

SF3Ipods JRIINTS 3H0LFS JFBINTYEI 1700 [y, BwWNcID. womd Sed
RAALFS Soee],; JBOS euar0s 6000 K ¢Ed S538 evRgabm 80,
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10.

11.

12,

PART - C/wori- C

Answer any four of the following, Each question carry 10 marks : (4 x 10 = 40)
Wevor weeny 33non ev3dd. I3 I8 10 wosrish :

Give the theory of Helmholtz resonator.
BOBAY BROTITTE 203303 DI0B.

What is Brownian motion? Explain Einstein theory of Brownian motion and
hence derive an expression for transitional Brownian motion.

WR0LE wos SondeRd? PIbE vesab DTYT  AROIIDY, IS0 Boriwe
t39,0° Jednt WP, dabw® Wosodh BUS ALY, L3I0,

Explain the working of diesel engine. Derive an expression for efficiency of
diesel engine.

BRane" 20803 T0FIZFR), D020 S0 BROWS* RoEIT TP evgaby BsIL0.

What is exhaust pump? Mention its characteristics. Derive an expression for
speed of exhaust pump.

VE3 BoT 0TTER? A3 TodT rosnds), IS0 DY) derd Foas e
RAZIR) Gu3320.

Dérive Planck’s law of radiation. Deduce the relations of Wemn's law and
Rayleigh Jean law from Planck's law.

YR dm AAbILIW) IO Iy TETH AabBeT JANF dab> Feite TS

Ley @ &Qb&ﬁ@ﬁi o030,




NN 35224/B 240
T

Reg. No.

II Semester B.Sc.3 Degree Examination, May 2016
CHEMISTRY (Optional)
(Regular — New Syllabus from 2014-15)
Time : 3 Hours] [Max. Marks : 80
Instructions/Zezdnd ;

1) All questions are compulsory.
>R Zdris ravab.

2) Answer all the questions in the same answer book.
DR, OUSTIIIR) 2.0tfe BVI0 T3FALP 2dabiesesd.

3) Draw neat diagrams and give equations wherever necessary.
TG IT S 253 ) SQCFOYA) 20O

SECTION - A/ %50 -

1. Answer any ten of the following : {10 x 2 = 20)
$YNRI)NYd alnFHreice B39, 4ugdrd:

(a) Calculate the bond order in Li, molecule.

ARODT* (Li, ) Le0dB 0o 503),0s) S8, 380

(b} Compare the physical state and hydrogen bonding in H,O and H,S.
H,0 303) H,S n¢doos mondy wog 3030 eding 5038s %arwa& BReAAD,

(c) State the law of crystallography.
33 glaemyad QOLROTRY, BeD.

(d} What is meant by Millar indices?
YD’ BOR0TNW BordesH?

(e) What are carbenes? Give an example.
S NoTBeRL? WOl AVIIBTSH B0,

() How are alkanes converted into alcohols?
v en IRy vsAFeF uh Bert F0I3rR03387?

1 P.T.O.




35224 /B 240 I

{g) Explain the classification of polynuclear hydrocarbons with examples.
599 SR30L0° BB A TowFNTRY INeFFOHST), euneBTEd0DI HIDD.

{h) Sodium metal reacts with acetylene but not with ethane. Give reason.
AReBOLI Secamy) eatiden Badnt 53300303, u3d SiIfen® Bedhe). FUN
B0,

(i What is inversion temperature?
'aa‘aéfa‘ FI33e8 BordedO?

(i) What are liquid crystals? Give an example.
33 ApsErYorvesL? 200 VDB TE F,80.

(k) What is gel? Give an example.
3¢ @oTTeRT7 LORD NVTIBTH $0BD.

() What is intrinsic viscosity?
Q0EVTF DNt3 WoreRO?

SECTION - B/ 2z - )

Answer any four of the following : (4 x 5 = 20)
03RHTWIL Teeyd, au3D0 :

2. Explain the geometry of water molecule on the basis of hybridisation and
VSEFPR theory.

QedT (H,0) oe0dd eseosisy B A dpedn’ 03y VSEPR 20903riemegdl K020,

3. Define space lattice and unit cell. Calculate number of particles per unit cell
in body centered cubic unit cell and face centered cubic unit cell.

3Rt SEIRS F03) aboes® FFNRYR) 53,309,0. 2l Fob30f 3RAW (BCC) 203y Fea® Hoksot,
R (FCC) adones® AeFnidd 33 odndes® Fofs e Soadnvd, I8, F3D.

4. Explain inductive effect and electromeric effect with examples.
QOB SOFI D) IR F00F IOFRINYR) svmesdEaleodrt HTO0.

5. What are dienes? Discuss the classification of dienes with examples.
@000 nYorBeRd? B,00n* ¢ SNersinSn), smen0s 3k3 ATV

6. Explain the determination of viscosity of a liquid by Ostwald's viscometer
method.

LTS ImN0CLT” APIVDOT w0t FIT AN303RY, Ford LBOLVFHTEY, ISVXD.

7. What is Joule-Thomson effect? Describe Joule-Thomson experiment and its

results.
meﬁ—ma}uﬁs‘ D05 vordeso? mef—mﬁgp‘d 3,0deen J03) 30&08:1«}5% 23020,
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SECTION - C/a%0r - 3

Answer any four of the following : (4 x 10 = 40)
3YNSHridd odnyeate 0¥, 6u3020 :

8. (a) Explain the formation of nitrogen molecule on the basis of molecular
orbital theory. Account for its bond order.

VROTYT A3303T e5e0d Soee dlacme® (N,) omos dﬁasobd‘}t D300, ez
205 ﬂoa%obmq dﬁd Ha380.

(b) Explain the terms sensitivity and selectivity. Discuss the use of dimethyl
glyoxime reagent in analysis of nickel. {5+5=10)
Ros5en® Beud S3) eody) Irtcdud BYYRY, HZ0%0. e ageRsabed o, e

MROinE 3¢ (DMG) 335086 evaalecrisia, S0%.

9. (a) Explain the following in brief :
()  Ozonolysis of 2-methyl-2-butene
(u) Hydroboration and oxidation of alkenes
ﬁ@ﬁﬁi@ﬂ#d& R03TToN HTO2D :
(i) 2-%@—2—&1%&3&‘6 Ldededisf
(i) eodernd Rnladedn’ D03 edrdedn’

(b) Explain the mechanism of nitration of benzene. (5+5=10)
Bodpen's S ededn® dabadb §odw 3203730080, AIDD.

10. (a) Derive Kirchoff's equation.
LR 3&)@5&3&2{ SO0,

(b} Refractive index and density of benzene were found to be 1.502 and
0.865 gcm™  respectively. Calculate specific refraction and molar

refraction of benzene. (Given : molecular weight of benzene = 78).

(S +5=10)
dodpens  IYepSs AR08 3y oumdned ZSmeA  1.502 o)
0.865 Moo/ 3.2 WWT ¥E0 mJey IYeId Iy wew 3@,{‘2,’136(1’66% s,
B30,

3 P.T.O,
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11. (a) What is hybridisation? Discuss dsp’ hybridisation and geometry of a
molecule involving it with an example.
BRE BB vorderd? dsp’ Z,RHE BB ) eddgl BR0DE 0T UTITIBY
woR) svBRBTEclecdnt AJ00.

(b} State Huckel's rule. Explain the aromaticity of pyridine. {S +5=10)
BFOT Q0LIOSEY, Bedd o3y 2087 T DVRACDR, L30T, DIBD.

12. (a} How do you convert :
(i} Benzene to Benzoic acid and
(i) Naphthalene to 2-Naphthol
(1)  Sodpa® es) Wodiecs® LSymeh Sod)

(i) SO ) 2-SPe* uh, Ber SOI3F 2007

{b) What are emulsions and emulsifiers? Give any three applications of

colloids. {S+5=10)
200 ) YT 07 worTesd? Fdond odnI)merts Sues) OBOVBIRY
BedD,
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II Semester B.A.3/B.Sc.3 Degree Examination, May 2016
Mathematics (Optional)
(RCU ~ Regular/Repeaters)
Paper — I : DIFFERENTIAL AND INTEGRAL CALCULUS

|

Time : 3 Hours] [Max. Marks : 80

Instructions : Answer all Parts.

PART - A
1. Answer any ten of the following (2 marks each) : (10 x 2 = 20)
(a) For the cardioid r = a (1 - cos 8), prove that ¢ = g .

(b} Find the Pedal equation of r =acosé.

(c) Prove that in the Parabola 2a _ 1-cos @, polar subtangent = 2a cosec 8.

”
{d) Define curvature and radius of curvature.

{e) Define evolute and involute of a curve.

2.2
() Prove that ( )lim(o 0) __163;—4 does not exists.
x, y)— (0, X +yYy
(@ If z=x? sin(3x+y3), then find 22 and oz,
ox oy

If u=—, then showthat x—~+y-—=u.
) Ifu=—Y_ then show that xY 4y
X+y ox 8y

(i)  Find the points of inflexion on the curve Y = (log x)3 .

] Obtain the envelope of family of Y = mx + 2 where mis the parameter.

m
(k) Find the reduction formula for J cot” xdx.

/2
() Evaluate Jcoss xdx.
0

P.T.0.
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10.

PART - B

Answer any four of the following (5 marks each) : {4 x5 = 20)

. , 1 1 1(ary
With usual notations, prove that —-=—+—/|—1| .
p® r¢ ri\de

Show that two cardioids r=afl+cosd) and r=b(l-cosd) intersect
orthogonally. '

For the curve x = a{cos @ +8sin6); y = a{sing - fcos §), show that s =aéd.

Pu _ u _ d’u
3y8z*yazax oxdy

If u= log(x2 +yt+ 22), prove that x

2 2
Find the envelope of family of curves x—2.+%é—=l , where a and b are
a

connected by the relation a® +b® =¢?.

Find the reduction formula for j cos” xdx, where n is positive integer.

PART -C
Answer any four of the following : (4 x 10 = 40}
. X dé
(a) With usual notations, prove that tang = r-&—-—.
r

(b) Find the Pedal equation of an astroid x%? + y*® = a3,
fa) Find the radius of curvature in Cartesian form.
(b} Find the radius of curvature for the curve r™ =a™ cosmé.

(a) State and prove Euler’s theorem for homogeneous function in x and y of
degree n.

(b) If u=f{x, y) and x=rcos@, y=rsind, then show that

[auf ou ) (811)2 1 (6u]2
= +1 =] === +=|—=1.
dx By or r2\ 06

2




[ 35233/B 330

11. (a) Find the ranges of values of x in which the curve y = 3x° —40x?® + 3x-20

is concave upwards or downwards. Also find their point of inflexion.

(b) Find all the asymptotes of the curve x° —2x%y+xy? + x* - xy+2=0.

12. {a}) Find the reduction formula for jx"e“"dx and evaluate Ix"’e?”‘dx.

z/4

by I, = Itan" xdx , then showthat I, + I, _, =L1 and evaluate I.. .
n_
o ,
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II Semester B.A.3/B.Sc.3 Degree Examination, May 2016
Mathematics (Optional)
(RCU - Regular/Repeaters)
Paper - II : ALGEBRA AND GEOMETRY

Time : 3 Hours] [Max. Marks : 80

Instructions : Answer all Parts.
PART - A

1.  Answer any ten of the following (2 marks each) : (10 x 2 = 20)

(@) Define Boolean Algebra.

(b) Prove that a+1=1 in Boolean algebra.

{c) State “Principle of Duality”,

(d) Find the highest power of 3 contained in 1000!.

(¢) Define Euler’s function and find ¢(S).

{fy  Find the centre and radius of the sphere
2x* +2y? +22%2 -4x -6y +82-7=0.

(g) Find the equation of tangent plane to the sphere

+y?+z?+2x+4y-62-6=0 at (1, 2, 3).

(h} Find the value of K of the spheres x?+y?+22+x+kz-2=0 and
x* +y*+2% -2x+3y -4z +6 =0 cut orthogonaily.

(i Find the equation of the cone with vertex at the origin and whose
guiding curve is ax’ + by? =2z; lx+my+nz=p.

()  Find the vertex of the cone x? -4y? +2? +8y-4=0.

{k} Define cylinder and right circular cylinder.

()  Find the equation of the cylinder whose generators touch the sphere
x* +y? + 2% =a? and parallel to line x =y =z.

1 P.T.O.
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10.

PART-B
Answer any four of the following (5 marks each) : (4 x 5 = 20)

If for every a, b € L, where L be a lattice then prove that
(@ avb=bifandonlyifa<h
(b) anb=qa ifandonlyif a<b.

State and prove “Fundamental Theorem of Arithmetic”.

Find the centre and radius of the circle x? +y®+2%?-8x+4y+82-45=0,
x-2y+2z=3.

Find the equation to the sphere which passes through the circle of
intersection x2+y?+22-2x+3y+5z+6=0 and 3x-4y+2z-15=0 and

orthogonal to the sphere x? +y? +2z? +2x+4y-62+11=0.

Find the equation of the cone whose vertex at the point (3, 1, 2) and whose
guiding curve is the ellipse 2x* +3y® =1, z=0.

Find the equation of the right circular cylinder of radius 2 whose axis passes
through (1, 2, 3} and has direction cosines proporticnal to 2, -3, 6.

PART-C
Answer any four of the following (10 marks each) : (4 x 10 = 40)
(a) Define “Distributive lattice” and if a, b, ceL where L be lattice then
prove that av(bac)s{avb)alave).
(b) Show that in a Boolean algebra, for any a and b a=>b if and only if
(@ab)via’ ab)=0.

(a) State and prove “Fermats Theorem”.

(b) Prove that 28! + 233 is divisible by 29 and 31 and by 899.

(@) Show that the equation x? +y? + 2% +2ux +2vy + 2wz +d = 0 represents
a sphere and hence find its centre and radius.

(b} Show that the plane 2x-2y+z+12=0 touches the sphere
x? +y? + 22 ~2x -4y + 22 =3 and also find the point of contact.

2
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11. (a)
(b)
12. (a)
(b)

35234/B 340

Find the equation of the right circular cone whose vertex is the point

{a, B, 7) and axis is the line x;a=y;ﬂ=z—y and semi vertical
n

angle ‘@°.
Show that the enveloping cone of the sphere x® +y?+2? -2x+4z=1
with its vertex at (1, 1, 1) is 4x? +3y? -52z? -6yz-8x+16z-4=0.

Find the equation of the cylinder whose generators intersect the conic
ax? + 2hxy + by® +2gx+2fy+¢=0,2=0.

Find the equation of the enveloping cylinder of the sphere

x? +y? + z? = 25, whose generators are parallel to the line % = % = g .
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II Semester B.Sc.3 Degree Examination, May 2016

Computer Science (Optional)
(RCU - Regular/Repeaters)
DATA STRUCTURES USING ‘C’

Time : 3 Hours]

Instructions : 1) Answer all Sections.

2) Draw diagrams wherever necessary.

SECTION - A

Answer any ten questions, each carries 2 marks :
1.  Define Data Structure.
2.  What is static memory allocation?
3. Define recursion.
4. What is binary searching?
5. List out any two applications of stack.
6. What is merge sort?
7. beﬁne queue.
8. Differentiate between stack from array.
9. What is Binary tree?
10. Define Linked list.
11. Define Root node and Child node.

12. Differentiate LIFO and FIFO.

[Max. Marks : 80

(10 x 2 = 20}

P.T.O.
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SECTION - B

Answer any five questions, each carries 4 marks : (5 x 4 = 20)
13. Write a note on memory allocation functions,
14. Write a program to find GCD of two numbers using recursive function.
15. Explain the concept of bubble sort technique with an example.
16. Define stack. Explain the various operations of stack.

17. Convert the following infix expression to postfix expressions :

(@) XAYAZ-A+B+C/D
(b) (A+B)*{(C+D)$(A+B)
18. What are the types of linked list? Explain any one of them.
19. Explain with an example, the terms non-terminal node and level of a tree.

SECTION -C

Answer any four questions, each carries 10 marks : (4 x 10 = 40)

20. Write the syntax and uses of following :

{a} fread ()
(b) fwrite ()
(c) feof()

(d) ferror()

() fscanf ()

21. Write a program to sort n-numbers in ascending order using merge sort
technique.

22. Write an algorithm for double ended queue to
(a) insert an element at rear end and at front end

(b) delete an element at rear end and at front end.
23. Explain the basic operations that can be performed on singly linked list.

2
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24. Traverse the tree given below in inorder, portorder and preorder.

25. Explain the meaning of the following terms :
(a) Complete Binary tree
(b} Heap
(c) Degree of a node and tree
(d) Terminal node

(e) Siblings
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II Semester B.C.A. Degree Examination, May 2016
NUMERICAL AND STATISTICAL METHODS

(KUD — Repeaters)

Time : 3 Hours] : [Max. Marks : 80

Instructions : Answer any five full questions.

Define Algebric equation and Trancedental equation with examples.
Define Bisection method find the approximate root of the equation
x° —9x+1=0 in (2, 3) carry out 5 iterations. (4 +12=16)
Derive the Regula-Falsi method of an root of equation.

Use the method of false position to find the fourth root of 12 corrected to

four decimal places (8 + 8 =16}

Solve the following system of equations by Gauss - elimination method

x+2y+z=3
2x+3y+32z=10

- 3x-y+2z=13

1. (a)
(b)
A CY
(b}
3. (a)
(b)
4. (a)
(b}

Write the solution of Linear simultaneous equations by Gauss Jordan
method {8 +8=16)

Use LU decomposition method to solve the system of equations.

2x+y+4z=12
4x+11ly—2 =33
8x-3y+2z=20

Find the eigen values and the eigen vectors of the matrix

A:[54J (10 + 6 = 16)
12

1 P.T.O.
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5.

(a)

(b)

()

(b)

BRI

Prove that

(i) ED=AE (EV=VE=A

Given f(40) = 184, {{(50) = 204, {(60) = 226, {(70) = 250, f{(80) = 276,
{90} = 304 find the {(38) & f{85) using suitable interpolation formula.

(6 + 10 = 16)
Given the following table find f(78) :
X 80 85 90 95 100
Y 5026 5674 6362 7088 7854

From the following table, find the value of Y when X = 10, using
Lagrange’s Interpolation formula

X

5

6

11

Y

12

13

14

16

(8 + 8 = 16)

Find the equation of the least fitting line y = ax + b for the following data :

X S 10 15 20 25
Y: 16 19 23 26 30
2
From the table of values below compute dy and Zx—‘g at x= 1.
X 1 2 3 4 S5 o
17} 1 27 64 125 216

Explain any four :

()
(b)
(c)
(d)
(e)
®

Newton - Raphson method

Types of Matrices

Eigen value and Eigen vector

Forward difference

Trapezoidal and Simpson’s 1/3rd rule

Mean, Median and Standard deviation

(8 + 8 = 16)

(4 x 4 = 16)
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Degree Examinations, May 2016

ENVIRONMENTAL STUDIES AND HUMAN RIGHTS

(Regular/Repeaters)
{Mandatory)
Time : 90 Minutes ' [Max. Marks : 80
Instructions :

1)  This question paper consists of Environmental Studies {Q.No. 1 to 40)
and Human Rights {Q.No. 41 to 80)

2)  Check for complete printing of 80 questions.

3) The last page of the question paper may be used for rough work.,

4) Each question has four muitiple choice answers and choose the
correct one.

5)  Darken the appropriate circle with the ball pen.

6) Damaging/overwriting using whitener on the OMR sheets are strictly
prohibited.

7) No candidate will be allowed to leave the examination hall till the
end of the session and without handing over his/her Answer Sheet
to the Invigilator.

8) Candidates should ensure that the Invigilator has verified all the

entries and that the invigilator has affixed his/her signature in the
space provided on OMR Sheet.

1. Climate conditions in the area of limited size constitute
2,003 eI maﬁquﬁ Jeodnons %aﬁsnvmq CAIRITT

{A) Local climate (B} Climate
J3e88 Jaadren Jeadre

{C) Micro climate (D) Weather
Ry Soodore BV

1 P.T.O.
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2, “Habitat is the organisms address and ecological niche is its profession.” —
Who gave this statement?
“ded ddab Zedab JwBTNG Py Led J0XvedE A I6 JZodRNd” Howd

Bedgab) AeBBEITO alRd?

(A) Odum (B) Reiter
LB Dresos

(C) Tansley (D) Misra
TR _ o8,

3. The English word environment is coriginated from
2P0kl H0w I QIR e Sueodod 33 0dRN?

(A) Latin {B) Greek
e t3n¢ Newt
(C} French (D) None of these
. Pows® RHNYD odRFHwe ve)

4. Environmental Studies involve studies of _
3030 erﬁzsoi)af@ wertpoRBOFBorY

(A) Evolution of Life (B) All aspects of Social environment
geo el HTIIT)Y 50ts BOI0T He) dRobrieda)

(C) Nitrogen cycle (D} All aspects of environment
FOLTT 237, SOROBOT AR03 BoBrie VF LTI,

5. Water logging has an impact on
Qetd Qe 030 wR)YrLFHB) IYNSIHNGd, od)a@zdd Boeet b Deven>?

{A) Atmospheric profile . (B) Productivity of soil
ek mietyoaRe Vo tel 14 1A :ba%ai M3 E3

(C) Air pollution (D) None of these
0d Sed, AINYS aleFhue ve)

6. Environmental Study is helpful in .
SOx0 ugodbdD) adeFHas, pr: T-Teb b L rte eV anY g A 109 Ve e]

(A) management of all environmental assets judiciously
93, 3B03OF JFO3C F0TZRY, Mo, aleciiseN JSFhuen

(B} the management of all resources

B0TTRLTT), ASF oz

(C) in achieving suitable development
238 WYBedriobdR) sehIed

(D) for all these resources
FSQZHrieneh




A

7. Tree hugging movement is called
NBRYRY, B2BAN T 13LBI0DTY,

10902/B 960/B 230/
B 520/B 240/B 910

(A) Chipko movement
1335;% “otdcen

{C) Silent Valley movement
3500 33 wordecos

8. Planting of trees is called

SooNBERYS), W)WY,
(A) Deforestation
BV eant
(C} Forestation
PITH B

ORZT.

(B) Green movement
BT oo

(D) None of these
AN cdnrd vey

adgggd.

(B) Afforestation
uFpediesn

(D) None of these
WRYNY ol ve)

9. Identify the non-renewable source of energy from the following
3YNBZridd Jhuhmpsainna 3§ ot aln?

(A) Coal
gdren

(C) Wind power
IS 3

(B)

(D)

10. Fossil fuels and metallic minerals are

FFolodd QIR ) SHBT v

{A) Renewable resources
RyBCOFBI0IRRWE J0TTRL

{C) Non-renewable resources
RVTITIIRNG FTVRL

11. Land is important because it

(B)

(D)

e d msﬁw% PL L nle]

{A) gives us space for building houses
BT SOTOLT), FEIFLYHWE, Font upedmend

(B) produces food for us and animals
S0t 0B Bedridrt WewoT uBITIR), WIBIBAN) WY, 8T

{C) one of the factors of production

BB WO TR LVSTTON

(D) for all these resources
81 He) Faonridon

Fuel celis
R0QT Spcaned

Wave power
wdnd 33

Inexhaustible resources
edainnientd

None of these
AHNTO_adFHod v

P.T.O.
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12.

13.

14.

15.

Which of the following is a possible producer in an ecosystem?
FENTIHridd ainD)) svsepEo Sried, $eds?

(A) Plants and some bacteria capable of producing their own food
AR 303 33) wBITIR), F>Ie oUS LRTRY W) Fo) wadedadmoriedy

(B) Animals

T3, edned

{C} Human beings
IRV

(D) Fish
Aoesoney

Frog, birds, fox and cat are example of
val,, B3rieh, 89, Wayried DOFPTE, SueBTENRTonT

(A} Primary Carnivores (B) Secondary Carnivores
TBEAT IN0THID Ledried aaseod) SR0TT0 Leried
(C) Top Carnivores (D} None of these
UEE DR0meBI0 Wedried QNI 0iRF)) ve)

The flow of energy in the ecosystem is governed by laws of thermodynamics
¥es HORT FF3 000 BIad BOF) dododromod R w08 iREIZ L dobondon

(A) One {B) Two
WOTD STB

(C} Three (D) None of these
S0t FJ)ndS oda) ve.

Hydrological cycle is driven by

wendy3, 2eds 3odond

(A) Water (B} Solar energy
Oesy RRlel:1

(C) Trees {D) Clouds
A@rieb Seednied
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16.

17.

18.

19.

B 520/B 240/B 910

Which of the following is correct?
FINRIHNYY ol 307

(A) Pyramid of energy is always upright
Bdab H0a0E° adnTaniews SoeenDmeNcHgss

(B) Pyramid of biomass is ever upright
0% CaB80d) H0AVEE aiRTeriawe SoeeDTNCZS

(C) Pyramid of numbers is always upright
Koad ¢ doadE adwaerien SeeDmeiichgss

(D) Pyramid of energy is inverted also
F30d J030E° alRTeriean 3¢ FUMNTINCIZS

In an aquatic ecosystem phytoplankton can be considered as a

%0 25¢=3 SORT FJHabd Felnemoztsn 20 JdriedRenro3as.
{A) Consumers (B} Producer
MBT00 : HITTOO
(C} Saprotrophic organisms (D) Micro consumers
BBR,eL5,IE BeND R, BT

Genetic variation between distinct populations of the same species is known
as ’

wode e eRdrt 2edn Hedrid waRoad0ddF Sogmed FIRAIEY AV
8030030. "
{A) Species diversity (B) Ecosystem diversity -
w3/ Ileq SO _ ezl IR0 35
{C) Genetic diversity (D) Biodiversity
SoBzedb TG Bes 3

Which group has the highest number of endangered species?
$9NBFHNd, cins Berneh rowe030E, Bed) timess?

{A) Mammals (B) Fishes
ERTa LN - 303, FosO0

(C) Reptiles (D) Birds
ROeRIrieL [ oo

5 P.T. 0 .
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20. About in situ methods of conservation of biodiversity we can say
B q,m;é O30 a® .’bhb/z:; m;p&eo.b ogme Apena w;\ o) O BeYwaodond

(A} It is the most efficient method
W BY I

(B} This method allows the animal to interbreed freely
© Jpedsy wHndn 3wy JORCT 33, wuRoad oY qjq;.aw%@csg
SOLLEIE Vb ()

(C} Itis financially cheap
20 8P ITN BRBNoTdIRE dges

(D) All these
WOSHNY

21. Rio declaration refers to
dodee Fuedsioln AR
(A} Earth Summit is June 1992 (B) Ram Sar Conference
AT gor 5y RV 1992 ortn$53ted 3;5%&*6

(C) Stockhome Conference 1972 (D) None of these
wFFBRC0 Byedm 1972 WHridd adnHe v

22. Environmental Pollution adversely affects
050 SPAT ) TF0EETN TR Bows

(A) Ecosystem (B) Food Chain
2e33030 d;saﬁso 450 I0HY

{C) Human Health (D} All these
IRTTL e WO

23. Taj Mahal, a tear on the chicks of eternity is adversely being affected by

vZo3dod FFob Joee Fededd Dordd BITOTHOIRAR Fw JBFE Doee I 38R0

TOBIFTT0LD IPBIFCOF)ond
{A} Sulphur dioxide (B Carbon dioxide
nogss &, & o Qood @) o B

(C} Carbon monoxide
ROMOT JpmeE B

None of these
WINYd, adnF)we we)
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24. Water pollution results in
%0 IRIFB Fdseodtond

(A) It can negatively affect the aquatic ecosystem
®RD BO BeIBORT %dﬁeabaigl aiveoars;smﬁ EiRALROT AL (A Y]

(B) It can endanger aquatic biodiversity
o5 63 FAGE, em0bIV0 S>3
(C) It can create water borne disease

D zwdﬁd Meﬂmd& aiebwru’mg“m

(D) All these
FSFHND

25. Soil pollution is generally caused by
Soea) SPOT, VoET BRI NSRS

(A} Industrial and Agricultural waste
3red? 33 FA§3DoB 38RO Iy I

(B} Radioactive wastes and Acid Rain
DT eeBee Ty SR S0 Ry Fod

(C) Medical waste
S deod FyEALD

(D) All these
BRI/

26. The causes of floods are '
a;aaﬁsé dno:,\)zs o mngond

(A) Prolonged high intensity rainfall
AT0ITTr 3¢ 3e33010n BART SePeT

(B} Meandering courses of the rivers
30T BRBE 3B

(C) Break in slope in the long profiles of the rivers
FD0H 2ROV 3001 BLoLRIINT

(D) All these
FSOHNed

7 P.T.O.
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27. Earthquake is caused by
0 BonRY, sa0nSord
(A) Disequilibrium in any part of the earth’s crust
PAAODL w¥REoLTOS PINEE) evotsers wazdeeos
(B) Movement of tectonic plates
LBBRedT Jetsrid Wors
(C} Both (A) and (B)
(A) S22 (B) 0B
(D) None of these

28.

29.

30.

TIPS, IR TH ©e)

Biomedical waste may be disposed off by .
B g ead 39,258 ST ciRS T T IS0 IREWBIE?

(A)

(B)

(€)

(D)

Incineration

BoroFHoo _

Autoclaving and land filling

eé.ixaeémeaorf o) mmon o8 3R odRHR
Both (A) and (B)

(A) 303 (B) 2080

None of the above

FR)NYA ainH> oe)

Viral hepatitis is caused by

$,0eF LT Fo0nSonS
(A) Bacteria {B) Protozoa
w3 3eBad® Spctinetpcss
(C} Viruses (D} None of these
30=° NI oI o)

Disease caused by eating fish inhabiting Mercury contaminated water is

RVUZDE FenadTod AOTA FaH weRONYRY DT wAT  BeeriSond

(A)

©

Bright’s disease (B) Mini-mata disease
3 45° doeert -k deert
Hashimoto disease {D) None of these
BRcASpesine Boen AHridd odagd ue)
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31.

32.

33.

B 520/B 240/B 910

Sustainable development involves

230 (AEEI RN wdirtpoBoh3ndodond

(A)

(B}

(€)

(D)

Equality between ages and genders
295 Sadee 3RoRBridy F0Id) JonE=o FBIDT IBPTS

Equality between classes and races
226 Inene 203 woeonny SBIAT IS0n3

Equality between continents and countries
QDT DR SR Bednd IROIT RT3

All the above
ASeHrndd

Point out the causes of energy shortage in urban areas
8o IBesrd) B3ad U3 seCtieriedTen woBrier) rHodd

(A)

(B)

(€)

(D)

They use more automobiles
oF)ried BYE soad 0 Seendd svsoleehgs

They use many electrical equipments in homes
S BUF S0, B3 o0w Sados eugsgnnes) svadadeeig:s

They have more population
oHriso BUR &R085,0008), B0

All these
S/

Why we have to give more importance to the conservation of water?
DedS RooZHR Tow) 03 TBIF), fBEB? ‘

(A)

(B)

(&

(D)

The availability of sweet water is limited
23007 2 JeOT 0333 wBD 2eJ03NT

The sources of sweet water are being contaminated because of
industrialisation and urbanization

28 DO Sanonied §mdedesdn R FrdeFtndod Fena3TrLIOS

Population is growing very fast
&BR0; %béaah PBgadnd &

For all these reasons
sFHRL

9 P.T.O.
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34. Global temperature is likely to increased due to
RNIT PIVT TSR3 BUYE, 50

(A) Burning of fossil fuels (B) Soil poliution
SIYoddd 'aot:airwa‘% ROTE m'm% wwaé

(C) Water pollution (D} None of these
w0 IROFY, WYY cInF)Ee ey

35. Which of the following is not a green house gas?
INSFHridd adRZHno B0 o vloze?

(A} Carbon dioxide (B) Methane
ROMPOT ¥, 68 & egen®

{C) Nitrous oxide (D} Oxygen
Se3=e oF @ ST

36. Global warming can result in
PR IJ0T HDFTo00B Brda wae—oad)ﬁ%@@?

(A) Increase in the mean sea level of the sea and oceans
FI0T,NY DT ok, 003

(B) Melting of polar caps
o0 FIe3ried ForOIBDoT

{C} Thermal expansion of seas and oceans
RB3008,ned NFHIVOTITHIS TR

(D) All these
adeHriedd

37. In India major cause of large scale displacement of people is
PU3TY BrRE I3RHw VSERICTT T, oD SeBELLPOS wodSond

(A) Forest fires (B) Construction of Dams
Vo NYIT o) Boso3ried weRZobnd ASnFn

{C) Earthquakes (D) War
PRTOD TN odog

@

38. One Child Norm was adapted by
20830 BotowT, 2.08¢ Ford ot 2VRAVAT J0B0

{A) Indian Government (B) Russian Government
P03 100 Usi), 30%0

(C) Chinese Government (D} None of these
%,AeR 3TFT W)Y adnFHn vey

10
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39.

40.

41.

42,

B 520/B 240/B 910

The present information technology is useful
FR3 Inkd 3032FR) ABe0B5d oINS

{A) Protecting human health
SRS Bt 3R OIRIHT

(B) Estimating the damage done to environment
aibﬁdi% FUOLRT m&aﬁoﬁi esomﬁ:-&);@dﬁ

(C) Both (A} and (B}
(A) S0 (B) 20BR
(D} None of these
IR)NIO IRIJ)we ey

HIV is going to be transmitted through
213.0.9. 21008 QYDA BoRIT)O

(A} Sexual contact (B) Blood transfusion
&,0Ns ZoJTF TZRONE ST

{C) Both (A) and (B) (D) None of these
(A) So2) (B) o0r> YNV odRF)Te B0,

‘Man is Political animal’ who said this?
‘DRTITY Tatdeod 50N 0T BELBRTO 0IRTO?

(A) H. Spencer (B) Admund Bark
25, IJO° DEOB WHE

(C) Aristotle (D} J. Locke
w0z s 2. end®

Human Rights are applicable to

SRTS BTN BT DT/

{A) Women (B) All People
&Fod 200nn

(C) Minorities (D) Men
aegbﬁow%sbﬂ ) e Srtalal

11 P.T.O.
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43. Magna Carta came into force in the year

SRR, T3¢ 0N wor SR

(A) 1015 (B) 1213

(C) 1215 (D) 1220

44. Declaration of Independence of the 13 States of America was proclaimed on

©eD50 13 vazyrid mB03 Peeasobi) Boued BF o) Jar

a) July 4, 1776 (B} September 4, 1776
woe), 4, 1776 3Bows 4, 1776

{C} October 9, 1776 (D) August4, 1776
uam“cud 9, 1776 eﬁ;; 4, 1776

45. Who granted Magna Carta to the people of England?
SRRt SR, Rortor wNdn Fety BAd wRsH?

{A) King Charles I {(B) King John
Sore BOF | dor® 2wt

(C) Churchill (D) James II
wires a!e:igv 11

46. The number of Articles in Universal Declaration of Human Rights are

28 5030 IRTI BV BIFYS FRCRSDART Fordewriel Bosl

{A) 30 B) 20
(C) 40 (D) 10
47. Jeans Jacques Rousseau is a Philosopher.
tden® 35° dakec 3 33250,
(A) British (B) American
ARX edoedon’
{C) French (D} Russian
Fots d3aid»
48. UNO’s Headquarter is located in .
&)E{v 303@01) geons, Feded qddIHro o).
(A) New York (B) Paris
SR 0dRTF ErXele)
(C) Japan (D) India
(~=arTo] 27903

12
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40.

50.

51.

S52.

53.

54.

B 520/B 240/B 910

The Universal Declaration of Human Rights are signed in the year
SRV BBYNY BIFE PREIDN 2 B3 IR

(A} 1958 (B) 1944

(C) 1948 (D) 1952

Human Rights are

SRTS BHYNWL

(A) Universal (B) Subjective
RIS DAL

(C) Unguestionable (D) All these
Zoa3e3d YSQHried

Human Rights are concerned to the people of

SRTS BTN 2301 J020R2.

{A) Hindu Religicn (B) Muslim Religion
%035 PO 0230 Gaoeralor

(C) Christian Religion (D} Al Religion
géﬁobw‘ FeeoLOn R Paweroidnt

First Generation Rights are set forth in Articles of UDHR
Se0e 3SIR0T (Hedrtody) B3> UDHRE 03w 30eSenndd soedds

(A) 2-21 (B) 1-11
(C) 12-13 (D) 15-16

Which is economic right?

QIRFH)T HPFT BTY?

(A) Right to Equality (B) Right to Press
BZRTI0d B8 B8, 00 BB,

(C) Right to Work (D) Right to Vote
SORE BB, S3oenT BB,

Mention the amendment that gave reservation for women, SCs and STs in
Panchayat Raj Institutions
D&Fodd, B08K, 23 ) JorEy =IO Towecdd vowt FoINYY eeRd INRT

3soEd

(A) 22nd (B) 83rd
22d¢ 83de

(C} 73rd (D) 42nd
73d¢ 428¢
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55. National Commission for protection of Child Rights was constituted in

o6.

57.

58.

59.

So5¢ BBYNY UgE 20d3 Tadeod aammmi Sordd CuReROVI.

(A) 2006 (B) 1996
(C) 1986 (D) 1968
Directive Principles of State Policies are mentioned in Part of the
Indian Constitution.
Oa%Qed Ader 3T 339@51{ 03 30T Ponud SR,
(A} Part-I (B) Part-II
-1 2gan-11
(C) Part-II (D) Part-IV

-1 Pon-1V

In a country who are numerically few from the view point of culture, language,
religion and ethnically are called
3078, o, TROF D3 Boo AFHNY AT Fa ;,’035 LYoo= %It HIVIZT?

(A) Majorities {(B) Minorities
WH) 30273,30H 80 F0RAITO

(C) Both (A) and (B} | (D} None of these
(A) S03) (B) o0BR _ QIRFT0 Ve,

The post of High Commissioner for Human Rights was established in the year

IRTD S&m@ 6&)6860‘ 208 ocbab —aa:,aoad P

(A) 1996 . B) 1993
(C) 1986 (D) 1968

In which year Karnataka State Human Rights Commission came into
existence?

QRS JarBd soertis INRES BBYY ealeensy) BRIT 200K?

(A) 1995 (B) 1947
(C) 1950 - (D) 2005
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60.

61.

62.

63.

B 520/B 240/B 910
Right to Religion provided in Article of Indian Constitution.
PIFT ﬁséaii 27903 30GVT smicdd SxeeE derdwaN.
(A) 14 B) 25
) 11 Dy 19

Who is eligible to become the chairperson of NHRC?
oageod) BT Bs)rid soleens wggoeros uEF3odi), adndy B0DTLIIT?

{A}) Chief Justice of the Supreme Court
3&3}3@;'35” mgtmaembd dmgs mzsainf;cs
(B) Judge of Supreme Court
&S dactles Ty0dnled
(C} Member of Parliament
HOF iR FTRTO

(D) None of these
QlRHTEe B

About minority we can say that
0 302730 Wii bert BedumOnd

(A} They have distinct culture
B30 3w 8B D8, Hox,3od), BeodtbFT

(B) They have distinct language, religion, race
w=d> 3ZTe @ Pod, POF, wEeohead Soa;ld BRSOV
(C) Their numerical strength will be less than the majority
8300 WRB 30373, 30N03 B Joad,0hYORT

(D) All these
B DI

Why the Tribal peoples need the protection in every society?
o) BRREEE), $hmed weons Csoh uS8 TS 9w 037

(A) They are minorities (B} They are exploited
#9300 ¥, 30330 030 3eca3dd
(C) They are deprived (D) For all these reasons

330 Fowddd 8 oe) Fagnridrn
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64. Which form of government is a best protector of Human Rights?
INPTI BR)TIY OgErt odomd SUII JCFVTNE?

(A) Democracy {B) Monarchy
SR308, ©oie3r

{C} Dictatorship (D} None of these
SOV AL o] CIRHER v

65. In the time of national emergency human rights are in India.
PU3BSY Darody Bo30¢ FDH30 30T A XT3 Foonday,

(A) temporarily suspended (B) permanently suspended
S0 IT5eN BIT,LPNCHZT B3390 B3Twr3T

(C) not suspended (D} none of these
B3goerbbe, 7G) o ve

66. Which of the following countries have cast their negative votes against the
UNO’s Declaration on the Rights of Indigenous people?
S 390 ains oaqiwb 8 aogod Fee e BONY FoEst dtep=s
WROVATH)?
(A) India, Pakistan, Bangladesh
203, T8, wormwed
(B) France and Germany
Fo0° D) wd
(C) Canada, Australia, New Zealand and USA
3w, ol J edadw, TR, 259,08, 8Zoedm

(D) France

67. Who is the present chairperson of Karnataka State Human Rights

Commission?

TOOF 3T DT Sou BRONY soleerid 3::‘3::5 G Y adRshL?

{A) Shri S.R. Naik {B] Smt. Girija Vyas
3¢. &7°.30%. mrobrB 83038 Ndese DEN

(C} Shrid. Reddy (D) None of the above
8ec . o8 R v,
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68.

69.

70.

71.

B 520/B 240/B 910
African Charter was called as Charter.
BHED° IVBRY, 38R0 2080 FdobLeRrIZE.
(A} Banjul Charter (B) Magna Charta
Woz0eF watdro® (AITVWD) IR, MY, ToLsE
(C) Great Charter (D} None of these
So&Ee AVTO alRFTe ve)

About the historical background of human rights we can say that ____
IS ﬁi’b&ﬂﬁ ﬁﬁﬁ&ﬁoi) 035227 &Qldabr&;isoasos o) O Ded medwHoTy

(A)

(B)

(€

(D)

Concept of human rights is recently originated
InTI BBYNY HOFOPdL wderdnt HUTOLTTEY.

This concept is as old as Sophocles, Plato and Aristotle
B FoBOF oL Aecdpedst, Serdne 0B WOT TR HOBIRD
This concept is as old as human society

RBIOBH, F)TBTTBRY,

All these
B OORP

What we can say about the role of Human Rights?
IS FBYNY W Wi T HVY BEFWIOW?

(A)

(B)

(€)

(B}

They give autonomy to individuals
O3y JBnIn 3,033, BRBIS

They help to the individual to maintain his culture and language

93) %ﬁﬂ 36‘* ek S03) 303&%01)634 dg%é;ae{)en IB0h INBZI

They protect the interests of migrants and contribute to social progress
o3 oW ¥RINYR) BN o) IR Jid FB20LTDITAS

All these
B HOIP

Which law gives right over ancestral property to women?
R0LIoDD FPDFr3 By0hd BT, Bobs, TRAT 0dRZHTOT

(A)

\®)

Hindu Succession Act of 1956 (B) Hindu Property Act

boBa Fpoerr3 gaod) 1956 Lot eyod BT F0WT
Parental Property Act (D) None of these
FOTT 8300 Fo0olT NI cdnFae ©e),
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72. The United Nations founded in the year

38 BoF 0l JdFod FRAZTH0.

(A} 1944 (B) 1945

(C) 1946 (D) 1947

73.

74.

75.

76.

The UNO Charter was signed by States.
:)saﬁoﬂmwo IS0 2083 Hd3 ca.—@w

(A} 45 (B) 40

¢y 51 D) 50

Mark True or False :

“The English Bill of Rights gave rights to the Parliament not to the People”
“0 mohed D o’ gi¢s* Dedr adnootirt VRTUINY, Setded Is =NdNne)". 30 vy
3:%:30&1):3?\1& rogosy

(A} True (B) False
=D 33,

{C) Both (A) and (B) (D) None of these
(A) 303 (B) o0BR CIRRTO 8e)

Doctrine of Separation of Powers is the main contribution of

2 ALTT A TAT ST T 33 g m%d BB &N,

{A} Montesquieu (B) Rousseau
mowﬁ% ORAR

(C) Hobbes (D) Locke
BIW), eRF

“Inequality is one of the fundamental social diseases” - Who says this?
“BRIPTZ0I0 SR RITT FoRLE MY, 20D BeYTIA 3RT?

{A) Robert (B} J.S.Mill
o TA' X 1 2.955 oer

(C) Karl Marx (D) Helvitious
FoOE ;S.mir ﬁézjéscm#
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77.

78.

79.

80.

B 520/B 240/B 910

Who was the supporter of the individual sovereignty?
FFob IFPOSIFTY, FPFATST aIRT?

(A} Thomas Pain (B) Bentham
FasdoR® Jeak Wopesot

(C) St. Simon (D) Mill
Aeods® Fow Qe

Which country is the first country to give attention to the right of minorities
for the time in 18497

18490 wipirt vo), 302730 BFYNYT &3@ NSO dets Jeve Do, 0dRFHE0?

(A} Hungary (B) German
®oried WIER*

(C) Greece (D} India
Az 3303

Which one of the following is inhuman practice?
FINTIHNYY dRJHnd uSPUNead) BTHaRNE?

{A) To establish good condition (B) Forced Labour

w0l F0AINFRY ADFRIHWO 3900w Wolsd
(C) Compuilsory Education (D} Protection of Culture
w0l 85 R03, 30b OF

“The French Declaration gave importance to Individual Rights while American
Declaration emphasized common good.” Mark True or False.

“Fou FreaEriodn J§ BNY xS Ketdd, BB uedm Hrressioly IRvTechn
w231t Som3 8 eRd”. 30 egT 3) SowORTY, TGOS

(A) True (B) False
30 33,

(C) Can't say (D) None of these
Dednrd IRF)BR Ve
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